EARAROBEEIERT — 2 N— IBISH —F

201218228 (H) 15E=%128

mk,\o)fﬂ]}j(@o)j(;ﬁﬁ?,u C3 ¥5%—#% ‘ (K] W& ‘ (BEmml  — | & (&) 13000 TR
[AE4£] 1% :120,000  ~ 2#%:30,000 ™  33%&:15000 M . 43&:10,000 57 :6,000 @
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
YFEA o7 66— 0 — BEER (B0
i o | T IR EF o4 X 1(2_7)0 6-6-6-2 | 39.0 2 (4;9) %Eg%
L:F—TNTPN—h B:FAIRKH =i B’S
> D 25118934 :27. -3-4- . = HEEX (SH)
5|5 | FraOyF v "o V| e e P | =i
L:T7NhtEy b BTIATXx YR HEEX42y K
I . 1oq- _ M (Z%0)
sl7l7lEvbEY FEY B H o6 Lume 1.(227>.6 1-1-1-1 | 40.6 1 <4+573) imzé
RiAAvay Kby BEU-FEy b B
= ANEE _ 77 - B = (HH)
4 NEES T EIN DA 6 BAT (11.217/.29) 7-7-7-7 | 39.8 5 :f;) il
L:T7ITRXFTaIL B hINRT— =Eizier]
S 4 6 LHFE 1:27.9 3-3-3-5 |40.7| — 8 503 | FHA (B0
5 6 724714 .0 () © |ZEBHS
LAV THLTF— BTATAEATSF J =2 —F
T AT o6 | hEES 1:27.9 1-1-1-2 | 40.8| — | 6 | 477 |FHA (BH)
6/8/8|7xAT1—F 54.0 (787) G | EEEA
R RYIYZRIR B:vvls—HhI-—X (B) #HAEIA-FL—->a>AET7r
= ; it 4 | KEEX 1:28.7 3-3-4-6 |41.4| — 4 474 | ERSE (HA)
7111|7710 =7n * 56.0 ) @3) | D) g<BaT-—2
LHISTLIF N BiHIIIVE R ik
-3 AV o5 | A 1:28.7 8-8-8-8 |40.4| — 7 483 | ERfR— (SH0)
sy 3| =>/7V3I74h 56.0 752 o | 8 A-xr7
X THANAN B:TXX2AI Gieflipae]
® I —F—@EBIERL
13=zr= (7,8),(1,5,6),2,4,3
20—+— (7,8),(1,5,6),2,4,3
30—7+— (7,8),6,(1,5),2,4,3
43—+ — 7,(2,5,8),6,1,4,3
[ RN
B OB 2 290H 714K 2-5 150H B E 2-5 400M &R 2-5-7 260M
8 B 2 110 2-7 160M B H 25 670M JEH 2-5-7 1,300M
5 100 5-7 180M
7 110

ABICOVWTRDTEEERROODE. TR LIV,




